

Provided for non-commercial research and educational use.
Not for reproduction, distribution or commercial use.

Serdica

Mathematical Journal

Сердика

Математическо списание

The attached copy is furnished for non-commercial research and education use only.
Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.
Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on
Serdica Mathematical Journal
which is the new series of
Serdica Bulgaricae Mathematicae Publicationes
visit the website of the journal <http://www.math.bas.bg/~serdica>
or contact: Editorial Office
Serdica Mathematical Journal
Institute of Mathematics and Informatics
Bulgarian Academy of Sciences
Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49
e-mail: serdica@math.bas.bg

OSCILLATION THEOREMS FOR SECOND ORDER SUBLINEAR ORDINARY DIFFERENTIAL EQUATIONS

E. M. Elabbasy

Communicated by J.-P. Francoise

ABSTRACT. Oscillation criteria are given for the second order sublinear non-autonomous differential equation.

$$(r(t)\psi(x)x'(t))' + q(t)g(x(t)) = \phi(t).$$

These criteria extends and improves earlier oscillation criteria of Kamenev, Kura, Philos and Wong. Oscillation criteria are also given for second order sublinear damped non-autonomous differential equations.

1. Introduction. In this paper we consider the second order nonlinear non-autonomous differential equation

$$(E_1) \quad (r(t)\psi(x)x'(t))' + q(t)g(x(t)) = \phi(t), \quad ({}' = \frac{d}{dt}), \quad t \geq t_0$$

or, more generally, of the form

$$(E_2) \quad (r(t)\psi(x)x'(t))' + p(t)x'(t) + q(t)g(x) = \phi(t),$$

where $g, \psi \in C(\mathbb{R})$ with $xg(x) > 0$, $g'(x) \geq 0$ for all $x \neq 0$, and $\psi(x) > 0$ for all $x \in \mathbb{R}$. ψ/g satisfies the sublinear condition

1991 *Mathematics Subject Classification*: 34C15

Key words: second order differential equation, oscillation

$$(c_1) \quad \int_{\pm 0}^{\pm \varepsilon} \frac{\psi(u)}{g(u)} du < \infty, \quad t \geq t_0.$$

$p, q, r, \phi \in C[t_0, \infty)$ with $r(t) > 0$ for all $t \in [t_0, \infty)$.

Throughout this paper, we restrict our attention only to continuable solutions of equation (E_1) (or (E_2)), i.e., those exist and can be continued on some interval of the form $[t_0, \infty)$, where $t_0 \geq 0$ may depend on the particular solution. Such a solution is called oscillatory if the set $\{t : x(t) = 0\}$ is unbounded. Equation (E_1) ((E_2)) is said to be oscillatory if all its solutions are oscillatory. The oscillation problem for second order nonlinear differential equations is of particular interest and, therefore, it is the subject of investigation by many authors. Many physical systems are modelled by second order nonlinear ordinary differential equations. The prototype of equation (E_1) is the so-called Emden-Fowler equation

$$(E_3) \quad x''(t) + q(t)|x(t)|^\alpha \operatorname{sgn} x(t) = 0, \quad \alpha > 0.$$

Equation (E_3) arises in the study of gas dynamics and fluid mechanics. Also, this equation appears in the study of relativistic mechanics, nuclear physics and in the study of chemically reacting systems. The study of the Emden-Fowler equation originates from earlier theories concerning gaseous dynamics in astrophysics around the turn of the century. For more details for this equation we refer to the paper by Wong [10], and to the survey article by Ševelo [9] for a detailed account of second order nonlinear oscillation and its physical motivation.

Oscillation criteria for equation (E_3) in the sublinear case, i.e., $0 < \alpha < 1$, when $q(t)$ is allowed to assume negative values for arbitrary large values of t , have received more attention in recent years since the early work of Belohorec [1]. We list here some of the more important oscillation criteria for (E_3) for easy reference; where $\sigma(t)$ in the following criteria, if any, stands for a non-negative increasing concave function.

$$(I) \quad \int_0^\infty t^\beta q(t) dt = \infty, \text{ for some } \beta \in [0, \alpha] \text{ (Belohorec [1])}$$

$$(II) \quad \limsup_{t \rightarrow \infty} \frac{1}{t} \int_{t_0}^t \int_{t_0}^s q(u) du ds = \infty, \text{ (Kamenev [4])}$$

$$(III) \quad \limsup_{t \rightarrow \infty} \frac{1}{t^n} \int_{t_0}^t (t-s)^n q(s) ds = \infty, \text{ for some } n > 1 \text{ (Kamenev [5])}$$

$$(IV) \quad \limsup_{t \rightarrow \infty} \frac{1}{t} \int_{t_0}^t \int_{t_0}^s u^\beta q(u) du ds = \infty, \text{ for some } \beta \in [0, \alpha], \text{ (Kura [6])}$$

$$(V) \quad \limsup_{t \rightarrow \infty} \frac{1}{t^{n-1}} \int_{t_0}^t (t-s)^{n-1} \sigma(s)q(s)ds = \infty, \quad n \geq 2, \quad (\text{Philos [8]})$$

$$(VI) \quad \limsup_{t \rightarrow \infty} \frac{1}{t} \int_{t_0}^t \int_{t_0}^s \sigma^\alpha(u)q(u)duds = \infty, \quad (\text{Kwong and Wong [7]})$$

$$(VII) \quad \limsup_{t \rightarrow \infty} \frac{1}{t^n} \int_{t_0}^t (t-s)^n \sigma^\alpha(s)q(s)ds = \infty, \quad \text{for some } n \geq 1 \quad (\text{Chen [2] and Wong [11]})$$

Wong [12] showed recently an extension of Kamenev result (II) to a more general equation (E_1) , with $r(t) \equiv 1$, $\psi(x) \equiv 1$, and $\phi(t) \equiv 0$ if $g'(x) \int_0^{x(t)} \frac{du}{g(u)} \geq \frac{1}{c}$ for $x \neq 0$ and,

$$(VIII) \quad \limsup_{t \rightarrow \infty} \frac{1}{t} \int_{t_0}^t \int_{t_0}^s \sigma^\lambda(u)q(u)duds = \infty,$$

for $\lambda = \frac{1}{1+c} < 1$, then equation (E_1) is oscillatory.

Remarks.

1. We note that the requirement $\lambda < 1$ is essential in the proof of Wong’s result [12].
2. Kura criteria (IV) unifies and considerably improves the results of Belohorec (I) and Kamenev (II). Also, condition (V) has the result of Kura (IV) as a particular case, (VII) includes (V).

The purpose of this paper is to extend condition (VII) for a abroad class of second order nonlinear equations of the type (E_1) (and (E_2)) (Theorems 1 and 2). Also, we present new oscillation criteria for (E_1) and (E_2) (Theorems 3 and 4).

2. Main results. We prove the following theorem for the case when $\phi \equiv 0$ in (E_1) .

Theorem 1. *Let n be an integer with $n > 1$ and ρ be a positive and twice continuously differentiable function on the interval $[t_0, \infty)$ with*

$$(c_2) \quad \rho'(t) \geq 0 \quad \text{and} \quad \rho''(t) \leq 0 \quad \text{for all } t \in [t_0, \infty).$$

Equation (E_1) is oscillatory if (c_1) holds, and

$$(c_3) \quad \gamma(t) = \frac{r'(t)}{r(t)} - 2\lambda\rho^{\lambda-1}(t)\rho'(t) \geq 0 \quad \text{and} \quad \gamma'(t) \leq 0 \quad \text{for all } t \in [t_0, \infty),$$

$$(c_4) \quad \limsup_{t \rightarrow \infty} \frac{1}{t^n} \int_{t_0}^t (t-s)^n \frac{\rho^\lambda(s)q(s)}{r(s)} ds = \infty, \quad \text{for } \lambda \in [0, 1].$$

Proof. Assume, for the sake of contradiction, that there exists a nonoscillatory solution x for $t \geq t_0$, of (E_1) . Without loss of generality, we suppose that $x(t) > 0$ for all $t \geq t_0$. We define

$$w(t) = \rho^\lambda(t) \int_0^{x(t)} \frac{\psi(u)}{g(u)} du, \quad t \geq t_0.$$

This and equation (E_1) imply

$$\begin{aligned} w''(t) &= \rho^\lambda(t) \left[\frac{(\psi(x)x'(t))'}{g(x)} - \frac{\psi(x)g'(x)x'^2(t)}{g^2(x)} + \frac{2\lambda\rho^{\lambda-1}(t)\psi(x)x'(t)}{g(x)} \right] \\ &\quad + \lambda(\rho^{\lambda-1}(t)\rho''(t) + (\lambda-1)\rho^{\lambda-2}(t)\rho'^2(t)) \int_0^{x(t)} \frac{\psi(u)}{g(u)} du \\ &\leq -\frac{\rho^\lambda(t)q(t)}{r(t)} - \frac{\gamma(t)\psi(x)x'(t)}{g(x)}, \quad \text{for all } t \geq t_0. \end{aligned}$$

Thus, we have for $t \geq t_0$

$$\begin{aligned} \int_{t_0}^t (t-s)^n \frac{\rho^\lambda(s)q(s)}{r(s)} ds &\leq -\int_{t_0}^t (t-s)^n w''(s) ds - \int_{t_0}^t \frac{(t-s)^n \gamma(s)\psi(x(s))x'(s) ds}{g(x(s))} \\ &= (t-t_0)^n w'(t_0) - n(n-1) \int_{t_0}^t (t-s)^{n-2} w(s) ds - \int_{t_0}^t \frac{(t-s)^n \gamma(s)\psi(x(s))x'(s) ds}{g(x(s))}. \end{aligned}$$

But, by using the Bonnet theorem, for a fixed $t \geq t_0$ and some $\xi \in [t_0, t]$, we have

$$\begin{aligned} -\int_{t_0}^t \frac{(t-s)^n \gamma(s)\psi(x(s))x'(s) ds}{g(x(s))} &= -\gamma(t_0)(t-t_0)^n \int_{t_0}^\xi \frac{\psi(x(s))}{g(x(s))} x'(s) ds \\ &= -\gamma(t_0)(t-t_0)^n \int_{x(t_0)}^{x(\xi)} \frac{\psi(u)}{g(u)} du \\ &= \gamma(t_0)(t-t_0)^n \int_{x(\xi)}^{x(t_0)} \frac{\psi(u)}{g(u)} du. \end{aligned}$$

Since

$$\int_{x(\xi)}^{x(t_0)} \frac{\psi(u)}{g(u)} du < \begin{cases} 0, & \text{if } x(\xi) > x(t_0) \\ \int_{+0}^{x(t_0)} \frac{\psi(u)}{g(u)} du, & \text{if } x(\xi) \leq x(t_0), \end{cases}$$

and $\gamma(t_0)$ is positive for all $t \geq t_0$, we have

$$-\int_{t_0}^t \frac{(t-s)^n \gamma(s) \psi(x(s)) x'(s)}{g(x(s))} ds \leq k_1 (t-t_0)^n,$$

where $k_1 = \gamma(t_0) \int_{+0}^{x(t_0)} \frac{\psi(u)}{g(u)} du$.

Hence, for every $t \geq t_0$, we derive

$$\int_{t_0}^t (t-s)^n \cdot \frac{\rho^\lambda(s) q(s)}{r(s)} ds \leq (t-t_0)^n w'(t_0) + k_1 (t-t_0)^n - n(n-1) \int_{t_0}^t (t-s)^{n-2} w(s) ds.$$

Since $n > 1$, the integral in the right hand side of the above inequality exists for every $t \geq t_0$ and is nonnegative.

Therefore,

$$\int_{t_0}^t (t-s)^n \cdot \frac{\rho^\lambda(s) q(s)}{r(s)} ds \leq (t-t_0)^n w'(t_0) + k_1 (t-t_0)^n.$$

Dividing by t^n and then taking the upper limit, we get the desirable contradiction. This completes the proof. \square

Theorem 2. *Suppose that (c_1) , (c_2) and (c_3) hold. Furthermore, we suppose that*

$$(c_5) \quad p(t) \geq 0 \quad \text{and} \quad \left(\frac{p(t)\rho^\lambda(t)}{r(t)} \right)' \leq 0 \quad \text{for all } t \in [t_0, \infty)$$

$$(c_6) \quad \limsup_{t \rightarrow \infty} \frac{1}{t^n} \int_{t_0}^t (t-s)^n \frac{\rho^\lambda(s)}{r(s)} (q(s) - \beta |\phi(s)|) ds = \infty,$$

for $n > 1$ and $0 \leq \lambda \leq 1$, $\beta = \frac{1}{g(c)}$, where $c = \inf_{t \geq t_0} x(t)$, for $x > 0$, $c = \sup_{t \geq t_0} x(t)$, for $x < 0$. Then equation (E_2) is oscillatory.

Proof. Assume, that there exists a nonoscillatory solution x , for $t \geq t_0$ of (E_2) and $x(t) > 0$ for $t \geq t_0$. Define $w(t)$ as in Theorem 1, then

$$w''(t) \leq -\frac{\rho^\lambda(t)q(t)}{r(t)} + \frac{\beta\rho^\lambda|\phi(t)|}{r(t)} - \frac{\gamma(t)\psi(x)x'(t)}{g(x)} - \frac{p(t)\rho^\lambda(t)x'(t)}{r(t)g(x)},$$

hence for all $t \geq t_0$ we have

$$\int_{t_0}^t \frac{(t-s)^n \rho^\lambda(s)}{r(s)} (q(s) - \beta|\psi(s)|) ds \leq - \int_{t_0}^t (t-s)^n w''(s) ds - \int_{t_0}^t \frac{(t-s)^n \gamma(s) \psi(x(s)) x'(s)}{g(x(s))} ds - \int_{t_0}^t \frac{(t-s)^n p(s) \rho^\lambda(s) x'(s)}{r(s) g(x(s))} ds.$$

But, by the Bonnet theorem, for a fixed $t \geq t_0$ and for some $\xi \in [t_0, t]$ we have

$$\begin{aligned} - \int_{t_0}^t \frac{(t-s)^n p(s) \rho^\lambda(s) x'(s)}{r(s) g(x(s))} ds &= - \left(\frac{\rho^\lambda(t_0) p(t_0)}{r(t_0)} \right) (t-t_0)^n \int_{t_0}^\xi \frac{x'(s)}{g(x(s))} ds \\ &= - \left(\frac{\rho^\lambda(t_0) p(t_0)}{r(t_0)} \right) (t-t_0)^n \int_{x(\xi)}^{x(t_0)} \frac{du}{g(u)}. \end{aligned}$$

Since

$$\int_{x(\xi)}^{x(t_0)} \frac{du}{g(u)} < \begin{cases} 0, & \text{if } x(\xi) > x(t_0) \\ \int_{+0}^{x(t_0)} \frac{du}{g(u)}, & \text{if } x(\xi) \leq x(t_0) \end{cases}$$

and $\left(\frac{\rho^\lambda(t_0) p(t_0)}{r(t_0)} \right) \geq 0$ for all $t \geq t_0$, we have

$$- \int_{t_0}^t (t-s)^n \cdot \frac{p(s) \rho^\lambda(s) x'(s)}{r(s) g(x(s))} ds \leq k_2 (t-t_0)^n,$$

where

$$k_2 = \frac{\rho^\lambda(t_0) p(t_0)}{r(t_0)} - \int_{+0}^{x(t_0)} \frac{du}{g(u)}.$$

The rest of the proof can be carried out as for Theorem 1. \square

Remark. If $\psi(x) \equiv 1$ or $\psi(x)$ is bounded then a condition on the sign of the damping coefficient can be removed.

Corollary. If condition (c_6) in Theorem 2 is replaced by

$$(c_7) \quad \limsup_{t \rightarrow \infty} \frac{1}{t^n} \int_{t_0}^t \frac{\rho^\lambda(s) (t-s)^n q(s)}{r(s)} ds = \infty,$$

and

$$(c_8) \quad \limsup_{t \rightarrow \infty} \frac{1}{t^n} \int_{t_0}^t \frac{\rho^\lambda(s) (t-s)^n}{r(s)} |\phi(s)| ds < \infty$$

then equation (E_2) is oscillatory.

Remark. This result improves our result in [3].

In the following result, no sign condition is assumed on $p(t)$.

Theorem 3. Assume, in addition to (c_1) , (c_2) and (c_3) that

$$(c_9) \quad g'(x) \geq \frac{k}{\psi(x)} > 0 \text{ for all } x \neq 0,$$

$$(c_{10}) \quad \lim_{t \rightarrow \infty} \int_{t_0}^t \frac{\rho(s)}{r(s)} \left(q(s) - \frac{p^2(s)}{4kr(s)} - \beta|\psi(s)| \right) ds = \infty,$$

$$(c_{11}) \quad \limsup_{t \rightarrow \infty} \int_{t_0}^t \frac{1}{\rho(s)} \int_{t_0}^s \frac{\rho(s)}{r(s)} \left(q(u) - \frac{p^2(u)}{4kr(u)} - \beta|\phi(u)| \right) dud s = \infty.$$

Then equation (E_2) is oscillatory.

Proof. Let x be a nonoscillatory solution on an interval $[t_0, \infty)$ of the differential equation (E_2) . Without loss of generality, we assume that $x(t) > 0$ for all $t \geq t_0$. We define $w(t)$ for $t \geq t_0$ as follows

$$w(t) = \rho(t) \int_0^{x(t)} \frac{\psi(u)}{g(u)} du,$$

then

$$(1) \quad w'(t) = \frac{\rho(t)\psi(x)x'(t)}{g(x)} + \rho'(t) \int_0^{x(t)} \frac{\psi(u)}{g(u)} du,$$

and

$$w''(t) = \rho(t) \left[\frac{(\psi(x)x'(t))'}{g(x)} - \frac{\psi(x)g'(x)x'^2(t)}{g^2(x)} \right] + \frac{2\rho'(t)\psi(x)x'(t)}{g(x)} + \rho''(t) \int_0^{x(t)} \frac{\psi(u)}{g(u)} du.$$

This and equation (E_2) imply

$$w''(t) \leq -\frac{\rho(t)q(t)}{r(t)} + \frac{\beta|\phi(t)|\rho(t)}{r(t)} - \frac{\gamma(t)\psi(x)x'(t)}{g(x)} - \frac{\rho(t)p(t)x'(t)}{r(t)g(x)}$$

$$\begin{aligned}
& -\frac{\rho(t)\psi(x)g'(x)x'^2(t)}{g^2(x)} \\
= & -\frac{\rho(t)q(t)}{r(t)} + \frac{\beta|\phi(t)|\rho(t)}{r(t)} - \frac{\gamma(t)\psi(x)x'(t)}{g(x)} + \frac{\rho(t)p^2(t)}{4r^2(t)\psi(x)g'(x)} \\
& - \left[\sqrt{\rho(t)\psi(x)g'(x)} \cdot \frac{x'(t)}{g(x)} + \frac{\sqrt{\rho(t)}p(t)}{2r(t)\sqrt{\psi(x)g'(x)}} \right]^2 \\
\leq & -\frac{\rho(t)q(t)}{r(t)} + \frac{\beta|\phi(t)|\rho(t)}{r(t)} - \frac{\gamma(t)\psi(x)x'(t)}{g(x)} + \frac{\rho(t)p^2(t)}{4kr^2(t)}.
\end{aligned}$$

Hence, for all $t \geq t_0$

$$w'(t) \leq w'(t_0) - \int_{t_0}^t \frac{\rho(s)}{r(s)} \left(q(s) - \frac{p^2(s)}{4kr(s)} - \beta|\phi(s)| \right) ds - \int_{t_0}^t \frac{\gamma(s)\psi(x(s))x'(s)ds}{g(x(s))}.$$

This and (1) imply that

$$\begin{aligned}
\frac{\rho(t)\psi(x)x'(t)}{g(x)} & \leq w'(t_0) - \int_{t_0}^t \frac{\rho(s)}{r(s)} \left(q(s) - \frac{p^2(s)}{4kr(s)} - \beta|\phi(s)| \right) ds \\
& \quad - \int_{t_0}^t \frac{\gamma(s)\psi(x(s))x'(s)}{g(x(s))} ds \\
& \leq M - \int_{t_0}^t \frac{\rho(s)}{r(s)} \left(q(s) - \frac{p^2(s)}{4kr(s)} - \beta|\phi(s)| \right) ds,
\end{aligned}$$

$M = w'(t_0) + k_1$, where k_1 is as in Theorem 1.

Condition (c_{10}) implies for large values of t , that

$$\int_{t_0}^t \frac{\rho(s)}{r(s)} \left(q(s) - \frac{p^2(s)}{4kr(s)} - \beta|\phi(s)| \right) ds \geq 2M.$$

Hence,

$$\frac{\rho(t)\psi(x)x'(t)}{g(x)} \leq -\frac{1}{2} \int_{t_0}^t \frac{\rho(s)}{r(s)} \left(q(s) - \frac{p^2(s)}{4kr(s)} - \beta|\phi(s)| \right) ds$$

therefore, for all $t \geq t_0$

$$\int_0^{x(t)} \frac{\psi(u)}{g(u)} du \leq \int_0^{x(t)} \frac{\psi(u)}{g(u)} du$$

$$-\frac{1}{2} \int_{t_0}^t \frac{1}{\rho(s)} \int_{t_0}^s \frac{\rho(u)}{r(u)} \left(q(u) - \frac{p^2(u)}{4kr(u)} - \beta|\phi(u)| \right) duds.$$

Consequently $\int_0^{x(t)} \frac{\psi(u)}{g(u)} du \rightarrow -\infty$ as $t \rightarrow -\infty$, contradicting the fact

$$\int_0^{x(t)} \frac{\psi(u)}{g(u)} \geq 0, \text{ this completes the proof. } \square$$

Theorem 4. *If, in addition to (c₁), we assume that*

$$(c_{12}) \quad \psi(x)g'(x) \geq 0 \text{ for all } x \neq 0,$$

There exists a continuously differentiable function

$$\rho : [t_0, \infty) \rightarrow (0, \infty) \text{ such that}$$

$$(c_{13}) \quad (i) \quad \rho'(t) \leq 0 \text{ for all } t \in [t_0, \infty)$$

or

$$(ii) \quad \rho'(t) \geq 0 \text{ and } (\rho'(t)r(t))' \leq 0 \text{ for all } t \in [t_0, \infty),$$

$$(c_{14}) \quad \limsup_{t \rightarrow \infty} \left(\int_{t_0}^t \frac{\rho(s)}{r(s)} ds \right)^{-1} \int_{t_0}^t \frac{\rho(s)}{r(s)} \int_{t_0}^s (q(u) - \beta|\phi(u)|) duds = \infty,$$

where β is as in Theorem 2, then equation (E₁) is oscillatory.

Proof. Let x be a nonoscillatory solution, for $t \geq t_0$ of equation (E₁), and suppose that $x(t) > 0$ for all $t \geq t_0$. We define

$$w(t) = \frac{r(t)\psi(x)x'(t)}{g(x)}, \text{ for all } t \geq t_0,$$

then

$$w'(t) + q(t) - \beta|\phi(t)| + \frac{r(t)\psi(x)g'(x)x'^2(t)}{g^2(x)} \leq 0.$$

Therefore, for all $t \geq t_0$

$$\begin{aligned} \frac{r(t)\psi(x)x'(t)}{g(x)} + \int_{t_0}^t (q(s) - \beta|\phi(s)|) ds &\leq w(t_0) \\ - \int_{t_0}^t \frac{r(s)\psi(x(s))g'(x(s))x'^2(s)}{g^2(x(s))} ds &\leq w(t_0). \end{aligned}$$

Multiplying by $\frac{\rho(t)}{r(t)}$ and then integrating from t_0 to t

$$\int_{t_0}^t \frac{\rho(s)\psi(x(s))}{g(x(s))} x'(s) ds + \int_{t_0}^t \frac{\rho(s)}{r(s)} \int_{t_0}^s (q(u) - \beta|\phi(u)|) du ds \leq w(t_0) \int_{t_0}^t \frac{\rho(s)}{r(s)} ds$$

or

$$\begin{aligned} \rho(t) \int_0^{x(t)} \frac{\psi(u)}{g(u)} du - \int_{t_0}^t \rho'(s) \int_0^{x(s)} \frac{\psi(u)}{g(u)} du ds + \int_{t_0}^t \frac{\rho(s)}{r(s)} \int_{t_0}^s (q(u) - \beta|\phi(u)|) du ds \\ \leq w(t_0) \int_{t_0}^t \frac{\rho(s)}{r(s)} ds + \rho(t_0) \int_0^{x(t_0)} \frac{\psi(u)}{g(u)} du. \end{aligned}$$

Write, for convenience,

$$G(t) = \int_0^{x(t)} \frac{\psi(u)}{g(u)} du, \quad F(t) = \int_{t_0}^t \rho'(s) \int_0^{x(s)} \frac{\psi(u)}{g(u)} du ds = \int_{t_0}^t \rho'(s) G(s) ds$$

hence we have

$$\begin{aligned} (2) \quad \rho(t)G(t) - F(t) + \int_{t_0}^t \frac{\rho(s)}{r(s)} \int_{t_0}^s (q(u) - \beta|\phi(u)|) du ds \\ \leq w(t_0) \int_{t_0}^t \frac{\rho(s)}{r(s)} ds + \rho(t_0) \int_0^{x(t_0)} \frac{\psi(u)}{g(u)} du. \end{aligned}$$

Now, we consider two cases:

Case 1. $\rho'(t) \leq 0$, for all $t \geq t_0$. Thus, $\rho(t)G(t) - F(t) > 0$, and then, we have from (2)

$$\int_{t_0}^t \frac{\rho(s)}{r(s)} \int_{t_0}^s (q(u) - \beta|\phi(u)|) du ds \leq w(t_0) \int_{t_0}^t \frac{\rho(s)}{r(s)} ds + \rho(t_0) \int_0^{x(t_0)} \frac{\psi(u)}{g(u)} du.$$

Dividing by $\int_{t_0}^t \frac{\rho(s)}{r(s)} ds$ and then taking the upper limit we get a contradiction.

Case 2. $\rho'(t) \geq 0$ and $(\rho'(t)r(t))' \leq 0$, for $t \geq 0$. Thus, if $\rho(t)G(t) - F(t) > 0$, then we have a contradiction as in Case 1.

Suppose, there exists $T \geq t_0$ such that $\rho(t)G(t) - F(t) \leq 0$ for all $t \geq T$. Thus, we have $G(t)$ is bounded above, say by $A > 0$. For, $\rho(t)G(t) - F(t) \leq 0$ implies, $\rho(t)F'(t) \leq \rho'(t)F(t)$, then $\left(\frac{\rho(t)}{F(t)}\right)' \geq 0$, for all $t \geq T$. Thus, $\frac{\rho(t)}{F(t)} \geq \frac{\rho(T)}{F(T)}$, $t \geq T$.

Hence,

$$\rho(t)G(t) \leq F(t) \leq \frac{F(T)\rho(t)}{\rho(T)}, \quad t \geq T$$

implies,

$$0 < G(t) \leq \frac{F(T)}{\rho(T)} = A, \quad \text{for all } t \geq T.$$

This and (2) imply that

$$\begin{aligned} & \int_{t_0}^t \frac{\rho(s)}{r(s)} \int_{t_0}^s (q(u) - \beta|\phi(u)|)duds \\ (3) \quad & \leq w(t_0) \int_{t_0}^t \frac{\rho(s)}{r(s)} ds + \rho(t_0) \int_0^{x(t_0)} \frac{\psi(u)}{g(u)} du + F(t) \\ & \leq w(t_0) \int_{t_0}^t \frac{\rho(s)}{r(s)} ds + \rho(t_0) \int_0^{x(t_0)} \frac{\psi(u)}{g(u)} du + A\rho(t). \end{aligned}$$

Now, since $(\rho'(t)r(t))' \leq 0$, $\lim_{t \rightarrow \infty} \frac{\rho(t)}{\int_{t_0}^t \frac{\rho(s)}{r(s)} ds}$ does exist and is finite. For, if

$\lim_{t \rightarrow \infty} \rho(t) < \infty$, then the conclusion is true; on the other hand, if $\lim_{t \rightarrow \infty} \rho(t) = \infty$,

$$\text{then } \lim_{t \rightarrow \infty} \frac{\rho(t)}{\int_{t_0}^t \frac{\rho(s)}{r(s)} ds} = \lim_{t \rightarrow \infty} \frac{r(t)\rho'(t)}{\rho(t)} = 0.$$

Therefore, dividing both sides of (3) by $\int_{t_0}^t \frac{\rho(s)}{r(s)} ds$ and then taking the upper limit we have a contradiction. This completes the proof. \square

Corollary. *If condition (c_{14}) in Theorem 4 is replaced by*

$$\limsup_{t \rightarrow \infty} \left(\int_{t_0}^t \frac{\rho(s)}{r(s)} ds \right)^{-1} \int_{t_0}^t \frac{\rho(s)}{r(s)} \int_{t_0}^s q(u)duds = \infty,$$

and

$$\limsup_{t \rightarrow \infty} \left(\int_{t_0}^t \frac{\rho(s)}{r(s)} ds \right)^{-1} \int_{t_0}^t \frac{\rho(s)}{r(s)} \int_t^s |\phi(u)|duds < \infty$$

then the conclusion of Theorem 4 is true.

REFERENCES

- [1] S. BELOHOREC. Two remarks on the properties of solutions of a nonlinear differential equation. *Acta. Tac. Rerum. Natur. Univ. Comen. Math.* **22** (1969), 19-26.

- [2] Y. CHEN. On the oscillation of nonlinear second order equation. *J. South. China Normal Univ. Natur. Sci. Ed.* **2** (1986), 99-103.
- [3] E. M. ELABBASY. Oscillatory behaviour of solutions of forced second order differential equations with alternating coefficients. *Appl. Math. Comput.* **60** (1994), 1-13.
- [4] I. V. KAMENEV. Some specifically nonlinear oscillation theorems. *Mat. Zametki* **10** (1971), 129-134.
- [5] I. V. KAMENEV. Integral criterion for oscillation of linear differential equations of second order. *Mat. Zametki* **23** (1978), 249-251.
- [6] T. KURA. Oscillation theorems for a second order sublinear ordinary differential equation. *Proc. Amer. Math. Soc.* **84** (1982), 535-538.
- [7] M. K. KWONG, J. S. W. WONG. On an oscillation theorem of Belohorec. *SIAM J. Math. Anal.* **14** (1983), 474-476.
- [8] C. G. PHILOS. An oscillation criterion for second order sublinear ordinary differential equations. *Bull. Polish Acad. Sci. Math.* **32** (1984), 567-572.
- [9] N. N. ŠEVELO. Problems, methods and fundamental results in the theory of oscillation of solutions of nonlinear non-autonomous ordinary differential equations. Proceedings of the 2nd All-Union Conference on Theoretical and Applied Mathematics, Moscow, 1965, 142-157.
- [10] J. S. W. WONG. On the generalized Emden-Fowler equation. *SIAM Rev.* **17** (1975), 339-360.
- [11] J. S. W. WONG. An oscillation criterion for second order sublinear differential equations. In: Conference Proceedings Canadian Mathematical Society vol. **8**, 1987, 299-302.
- [12] J. S. W. WONG. A sublinear oscillation theorems. *J. Math. Anal. Appl.* **139** (1989), 408-412.

Department of Mathematics
Faculty of Science
Mansoura University
Mansoura
A. R. EGYPT

Received October 6, 1995